Z
[IA]

O]l & AF & & Ml A

20208 = =& 1 g Bt Y BAHA
A EAA
M. Z2OZ MHIA HB
Chel: BEREAI 2 22 (=& &)
SA - B H(SH) - NRAY - BES Ofl & o4 k- HDE2
SAHA 9,114,361 8,556,520 557,841
= 749,724 330,320 419,404
= 34,358 34,358 0
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< 822,307 801,224 21,083
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SS2ASZAHIA HS 1,682,275 1,715,462 A 33,187
= 125,062 123,834 1,228
J| 2,506 2,506 0
< 34,565 24,255 10,310
= 1,520,142 1,564,867 AN44,725
S32H0|& 2l 1,679,143 1,712,330 A 33,187
= 125,062 123,834 1,228
& 34,252 23,942 10,310
= 1,519,829 1,564,554 NA44.725
S3E2H40|2 &Y 565,493 604,746 A 39,253
201 2 Bt2 | 508,203 547,056 38,853
01 At 22| i 213,013 230,014 A 17,001
OBt Z2H| 6,000 0 6,000
—B20|& 44| 20,000& *2500 A 1201 & 6,000 0 6,000
oollar 22 A 23,001 0 A 23,001
02 =294l 295,190 317,042 A21,852
O332aLHA 133,790 139,790 6,000
— 2202 |4&4| 0 6,000 26,000
Oular & N 15,852 0 AN 15,852
202 O B 1,800 2,000 A 200
01 =LH 04 HI 1,800 2,000 A 200
Oulat 2 A 200 0 A 200
203 PR =&Yl 1,800 2,000 A 200
03 Al Z=&XIH 2 =&Y 1,800 2,000 A 200
oollar 22 A 200 0 A 200
S ZFAXNY A& JsEL 10,310 0 10,310
< 10,310 0 10,310
405 RtakF S| 10,310 0 10,310
< 10,310 0 10,310
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= 1,295 1,911 AN616
— 0 dl 120,000 »2Y =120 & 2,880 5,400 A2,520
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e 25,384 18,034 7,350
301 2N = 41,740 64,140 A 22,400
p) 20,870 32,070 A 11,200
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307 2iz2tol & 552,312 546,516 5,796
p) 276,156 273,258 2,898
L= 82,845 81,976 869
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J| 20,170 19,814 356
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< 1,200 1,800 A 600
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< 0 150 A 150
s 0 150 A 150
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s 2,100 3,600 A 1,500
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fia 360 900 A 540
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301 LEEAF 7,155 51,840 N44,685
J| 5,723 41,472 N 35,749
= 716 5,184 N4,468
a 716 5,184 A4,468
09 AL HIXI &3 7,155 51,840 A 44 685
OAMY 29 2 WEFEFA AHl S 0 6,000 A 6,000
J| 0 4,800 A 4,800
=) 0 600 A 600
= 0 600 A 600
odd 249 3,000& 15F *153] x50 & 3,375 28,800 N 25,425
J| 2,699 23,040 N 20,341
< 338 2,880 A2,542
[ia 338 2,880 A2,542

OXlHogna 8 22

3,000& ~15F 43| 501 & 900 5,760 A 4,860
J| 720 4,608 A 3,888
< 90 576 A 486
[ia 90 576 A 486
OXHAE=0ES 22 3,000 20«83 x50 2,400 10,800 A 8,400
J| 1,920 8,640 A6,720
=) 240 1,080 A B840
= 240 1,080 A B840
HY2IZH(BEHL) 520,864 535,160 A 14,296
eI 2l 307,412 312,380 A 4,968
Qa2 307,412 312,380 A 4,968
202 o4 Hl 44,712 49,680 A 4,968
01 = LH A HI 44,712 49,680 A 4,968
Ola 22 A4,968 0 N 4,968
Jl= &l 213,452 222,780 N9,328
28 (EH#EE) 131,022 136,380 A5,358
201 ¢er24l 21,492 23,880 A 2,388
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Jl2ZH(ge2AdE) 8,130 9,600 A1,470
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01 =0t 8,130 0 8,130
O=Wotl 8,130 0 8,130
02 X0 0 9,600 A 9,600
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=gl (FEugd) 20,600 21,000 2400
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01 =W OHI 18,200 21,000 2,800
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02 X0l 2,400 0 2,400
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2B (XL E) 28,200 28,800 2600
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01 =HOIHI 6,600 0 6,600
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02 X0l 21,600 28,800 AT,200
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Hegs(22Ha) 338,601 398, 865 260,264
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02019 =t L ES AL 2,103 0 2,103
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020198 =JtZ 0 AL 177 0 177
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020198 JI=ZMAL=SXNWEH 2 284 200 84
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020198 S LHAIOI&HZ A & 2HOF 22l 566 363 203
02019 Aldor & =DM 318 299 19
020198 MAS5 JIMA ZHER A& 1,870 2,800 A 830
02019 A EMI2OA=2Hl K& 101 125 N24
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